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Discuss Marshall’s weltare definttion of Economucs. 14
OR

Critically discuss the detinition of Economices given by Robbins.

Choose correct answer from the following options.

()  Economist has given the definition of economics related to
weltare.
(@)  Adam smith (b)  Robbins (¢)  Marshall

(2) Utlity means .
(@)  Enmjoyment (b) @ Gowdness (¢)  Satistaction

(3)  For which of the tollowing goods use-value is very high and it has no barter
value ?
(a) Books (b)Y Sunlight (¢) Scooter

(4)  Consumer goods satisty liuman wants

. (a) Directly (b)  Indirectly

(¢) Constant

Describe the factors atfeeting price elasticity of demand. ‘ 14
. OR - :
Explain the Law of Demand with the help of diagram and also discuss its m'ain
exceptions.
Choose correct answer from the following aptions, 4
(1) ,Thereisa relation between Price and Demand.
(a) Direct (b) Inverse
(2) Instudy of economics
(a) Individual
(b) Market
(c) Relative
(3)° Demand is a tunction of

(¢) Relative
demand is important.

(a) Price (b)  Other tactors (¢)  None of the above
(4) A change in the quantity of a commodity demand as a result of a change in
other factor is known as . _ :

(a)  Extension and contraction in demand
(b)  Price elasticity of demand
(¢) - Increase and decrease in demand
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4. (a) Give the meaning of perfect competition, and describe its characteristics,
OR
Explain:: (1) Item disruption
(2)  Meaning and Characteristics of Monopoly.
(b)  Choose correct answer from the following options.
(1) In which market goods sold are homogenous
(a) - Perfect competition
(b)  Oligopoly
(¢)  Monopoly
(2)  In which time period numbers of firms are not changed ?
N (a) - Long (b)  Medium (¢) Short
~(3)  Which economist has given the concept of monopolistic competition ?
(@)  Prof. Marshall (b)  Prof, Hicks (c) Prof. Chamberlin
DA-105

()  Explain the law of variable proportions vath the help of diagsam
OR
Explain: (1)  Production function
(2)  Average cost and Marpinal const
(3)  Average revenue and marginal revenue
(b)  Choose correet answer from the tollowing aption:,
(1) Production function factors show the Relation-hip bets, e
(a)  Production and sale
(b)  Production and purchase
(¢)  Production and factors of production
(2)  What is budget line ?
(@) Possibility of purchase of consumer
(b)  Purchase specialty of consuimer
(¢)  Consumer spendable of income
(3)  Production possibility curve means,
(a)  Sales curve
(b)  Transtformation curve

(¢) Costcurve
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Instructions : (1) All questions are compulsory.
(2)  Figure to the right indicate marks allotted to cach questions.
I, (A) Explain the law of diminishing marginal utility. 14

OR -
Explain the law of Demand with the help of diagram.

(B) Multiplc Choice Questions.

4
(1) What is the nature of relationship “between - marginal utility and
consumption ? :
(A) Inverse (B)  Positive
«C) Parallel (D) Neither
(2)  Consumer’s equilibrium implies
(A)  Maximum expenditure (B) Maximum utility
(C) Maximum income (D) Maximum consumption
(3)  Generally Demand curve has which slope 9
(A) Parallel to axis ¥B) Negative ;
\(C\) Positive (D) Parallel to y axis IS
Qi . \ﬁ-‘!‘/’ rl\'
Ty Utilitjimplies | =
(A Pleasure (B) Happiness
(€)  Usefulness -@) A commodity’s capacity to satisfy wants

[ R

(A) Explain the meaning and ch

. aracteristics -of indifference
diagrams. .

curve with the help of
OR ' 14

Explain the law of diminishing marginal rate of substitution

(B) Multiple Choice Questions.

(1)  Giften goods and its demand have rclationship
YA) Positive (B) Negative - .
(C) Neutral (D) None of the above
DA-105
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(2) Substitution effect is always

(A) Negative (B)
XC)  Zero (D)

(3) Whatelseis opportunity line called ?
i (A) Demand line (B)

(C) Price line D)
(4) From the following in whicl

(B)

L(A) Price= Marginal utility
(C) Price < Marginal utility (D)

LPV]
.

Positive
Steady

Indifference curve
Budget line

1 situation consumer’s equilibrium is obtained ?

Price > Marginal utility
None of the above

(A) Describe the type of elasticity of Demand and discuss the usefulness of the

concept of its.
OR
Discuss the types and factors effecting income elasticity ot demand.v/

(B) Multiple Choice Question.
(1)  What is the slope of demand curve when demand is perfectly elastic ?

(A) Parallel to horizontal axis ~ YB) Positively slope
(C) Negative slope (D) _Parallelto vertical axis

(2) For luxury income elasticity of demand is
(A) Positive and less than one.  (B)
(C) Positive and greater than one (D)

Negative and greater than one
Negative and less than one

. (3) How many types of incomie elasticity ot demand are there ?

(A) One (B) Two
~«C) Three: (D) Four
(A) Explain the law of variable proportion.
OR

Discuss the Internal Economics and, Dis-economics.

(B) Multiple Choice Question.
(I)  In Economiics short run refers to i
(A)y=All tactors‘ﬁxed +B) All factors variable
(C) Onlyone factor variable (D) None of the above
(2)  Production functions means
(A) Relation between total income and total ¢ost.
(B) Relation between supply and price.
“«C) Relat!on between production and marginal cost.‘/
(D) Relation between factor amount and output,

(3)  Which time run the law of decreasing returns applied ?

(A) Longrun (B) Short run
J#Z) Long and Short run (D) Ancient
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